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440. Sorus in Pteris is produced on
1) Ramenta2) Placenta 3) Rhizome 4) Stomium

441. In Pteris, the multicellular hairs interspread with
developing sporangia are called
1)  Ramenta 2) Scales
3) Paraphysis 4) Apophysis

442. If the indusium orginates from the receptacle it is called
1) True indusium 2) False indusium
3) Open indusium 4) Closed indusium

443. Which of the following is not related to sorus of Pteris
1) Mixed sorus 2) Coenosorus
3) Intra marginal and superficial sorus
4) Covered by true indusium

444. In Pteris fertile pinna differs from a normal pinna in
1) Shape and size         2) Type of venation
3) Arrangement over rachis    4) Presence of sori

445. Number of coenosori present on each fertile pinnule
1) 1 2) 2 3) 4 4) Many

446. Group of sporangia is called
1) Ramenta 2) Sorus
3) Placenta 4) False indusium

447. The sori in Pteris are found on
1.Lateral surface of sporophyll
2. Abaxial surface of Sporophyll
3. Adaxial surface of sporophyll
4. On the margins of leaves

448. The sori bearing leaves of Pteris are known as
1. Aphylls 2. Sporophylls
3. Tropophylls 4. Sclerophylls

449. The Pteris plant is
1. Homosporus 2. Heterosporous
3. May be Heterosporous (or) Homosporous
4.Eusporous

450. Indusium of Pteris is
1. Outer false & Inner true 2. Outer & Inner false
3. Outer true & Inner false 4. Outer and inner true

LEVEL - II

451. Assertion (A) : The sorus in Pteris is said to be a
mixed type.
Reason(R) : In Pteris an aggregation of old and
young sporangia without any regular arrangement
is seen

452. Assertion (A) : Pteris is homosporous
Reason (R): One kind of spores are produced in
Pteris

453. Assertion (A) : Sorus in Pteris is coenosorus
Reason (R): The sporangia are grouped in a
continuous and linear type of sorus

454. Assertion (A) : Sorus in Pteris is coenosorus

Reason (R): An aggregation of old and young
sporangia without any regular arrangement is seen
in Pteris sorus

455. The sorus in Pteris is

1) Gradate sorus covered by true indusium

2) Gradate sorus covered by false indusium

3) Mixed sorus covered by false indusium

4) Mixed sorus covered by true indusium

STRUCTURE OF SPORANGIUM

LEVEL - I

456. The cells of the annulus in Pteris are thickened on
1. Side walls
2. Inner tangential and radial walls
3. Outer walls 4. Outer and side walls

457. The narrow and radially elongated cells in the jacket
of sporangium of Pteris are called
1. Lip cells 2. Hypostomium
3. Epistomium 4. Stomium

458. Under normal circumstances, number of reductional
divisions necessary for the formation of full number
of spores in the sporangium of Pteris is
1. 48 2. 6 3. 12 4. 24

459. The spore mother cells in the sporangium of Pteris
are surrounded by
1. Annulus 2. 1-2 layered Tapetum
3. Endothecium 4. Stomium

460. In Pteris the no. of spore mother cells usually
produced in each sporangium are
1. 12 2. 24 3. 32 4. 64

461. Which combination of characteristics is for a fern
(Pteris) Sporangium?
1. Sessile, Unicellular, non-jacketed
2. Stalked, Unicellular, Non jacketed
3. Sessile, Multicellular, non Jacketed
4. Stalked, Multicellular, Jacketed.

462. The ferns in which the entire sporangium develops
from a single superficial cell  of the sporophyll are
known as

1. Leptosporangiate 2. Eusporangiate

3. Unisporongiate 4. Mesosporongiate

463. In Pteris meiosis occurs when

1. Spores are formed 2. Gametes are formed

3. Prothallus is formed

4. Sex organs are formed
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522. Match the following with respect to Pteris

List I List II

A) Prothallus I. Cordate

B) Leaflet II. Lanceolate

C) Spore III. Triangular

D) Capsule IV. Rectangular

V) Oval

A B C D

1) IV II III V

2) V II III I

3) I II III IV

4) I II III V
523. Match the following with respect to Pteris

List I List II
A) Prothallus I. Tapetum
B) Rhizome II. Dictyostele
C) Leaflet III. Open dichotomous

      venation
D) Sporangium IV. Deep U shaped apical

     notch
V.  Nucellus

A B C D
1) IV II I III
2) IV II V I
3) IV II III I
4) IV II III V

524. Match the following with respect to Pteris
List-I List-II
A. Sporangium I. Leptosporangiate type
B. Gametangia II. Eusporangiate type
C. Paraphyses III. Sessile, Jacketed
D. Leaf IV. Frond

V. Uniseriate
A B C D

1) II III V IV
2) I III IV V
3) I III V IV
4) I III II IV

ANTHERIDIA

LEVEL - I

525. Number of opercular cells in the antheridial jacket of
Pteris is

1. Two 2. Four 3. One 4. Many

526. The ratio of androcytes and spermatozoids in Pteris is

1. 2 :1 2. 1 : 2 3. 1 :1 4. 1 : many

527. Number of cells in a jacket of an antheridium of Pteris

1. 3 2. 6 3. 32 4. 36

528. The male gametes in Pteris are

1. Non motile 2. Motile, biflagellated

3. Motile, Multiciliated

4. Non Motile, Multinucleate

529. The antheridial wall of Pteris consists of

I. One ring cell and two opercular cells

II.Two ring cells and one opercular cell

III.Three Opercular cells

1. I & II are correct 2. II & III are correct
3. II alone is correct 4. I and III are correct

530. The following prothallus cell of Pteris can be
regarded single celled stalk of antheridium

1) Cap cell 2) First ring cell

3) Second ring cell 4) Basal cell

531. Number of antherozoids formed in antheridium of
Pteris is

1) 48 2) 12 3) 36 4) 32

LEVEL - II

532. In Pteris, antherdia and archegonia are respectively.

1. Stalkless & stalked 2. Stalked and Sessile

3. Both Stalked 4. Both Stalkless

533. Antheridia of Pteris are

1) Small, sessile, oval 2) Small, sessile, globular

3) Small, stalked, globular

4) Large, sessile, globular

534. First ring cell of antheridium is

1) In between basal cell and cap cell

2) In between basal cell and second ring cell

3) In between cap cell and second ring cell

4) Adjacent to cap cell

535. During the dehiscence of antheridium the cells that
absorb water are

1) Jacket cells 2) Androcytes

3) Both jacket cells and androcytes

4) Neither jacket cells nor androcytes

536. There are 100 antheridia in the prothallus of Pteris.
25% of androcytes in each antheridium got
degenerated. How many spermatozoids are
expected to be formed?

1) 2400 2) 1200 3) 3200 4) 6400
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A B C D

1) IV III II I

2) I III IV V

3) I III II IV

4) I III II V

550. Match the following with respect to Pteris

List I List II

A) Archegonium I. Globular

B) Antheridium II. Oval shaped

C) Capsule III. Uniseriate

        D)Paraphyses         IV.Flask shaped

                    V.Pear shaped

      A      B    C   D

1) IV  I II V

2) IV I II III

3) IV V I III

4) I IV II III

FERTILIZATION

LEVEL - I

551. In normal conditions, the number of archegonia
fertilized on each prothallus is

1) Many 2) 1 3) 3 4) 4

552. The growth of prothallus of Pteris stops

1. After fertilization

2. After the formation of rhizoids

3. After the formation of embryo

4. After establishing to the soil

553. Which of the following is not involved in the
fertilization of Pteris

1. Pollen tube 2. Water

3. Archegonia 4. Ciliated Sperm

LEVEL-II

554. Arrange the following events in a sequence in the
life cycle of Pteris

I. Reduction division           II. Formation of sporangium
III. Prothallus IV. Oogamy

1) III, I, IV, II 2) II, I, IV, III

3) I, II, III, IV 4) II, I, III, IV

EMBRYO

LEVEL - I

555. In Pteris, embryo develops from

1) Spore 2) Zygote

3) Spore mother cell 4) Egg

556. In Pteris, during the formation of sporophyte, the
organ that grows first is

1) Leaf 2) Rhizome 3) Root 4) Rhizoids

LEVEL - II

557. Calyptra is a structure

1. Formed by the venter of archegonium (Prothallus)
2.Formed at the base of antheridia

3. Formed in the centre of the capsule
4.Formed at the base of leaves

LIFE CYCLE

LEVEL - I

558. Life cycle in Pteris is

1) Haploid 2) Diploid

3) Diplo-haplontic 4) Haplo-diplontic

559. Pteris shows

1) Isomorphic alternation of generations

2) Heteromorphic alternation of generations

3) Both isomorphic and heteromorphic alternation
of generations

4) No alternation of generations

LEVEL - II

560. Assertion (A) : The life cycle of Pteris is called
Diplohaplontic

Reason (R) : In Pteris there is heteromorphic
alternation of diploid and haploid
phases in which diploid phase is
dominant.

561. In Pteris/Pteridophytes this statement is true

1. Sporophyte is dependent upon Gametophyte

2. Gametophyte is dependent on Sporophyte

3. Both gametophyte and sporophyte are dependent
upon each other.

4. Gametophyte and sporophyte are independent of
each other.


